H & 0l & AHS B Ml A

=S =Sl (EH9): ®2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
VNN 18,133,675 16,805,170 2,328,505
= 12,282,833
[ 1,866,711
AltI 2,270,860
-l 1,713,271
s 54 2 o 1,965, 184 1,161,431 803,753
= 274,664
[ 104,550
AlH] 794,816
Tl 791,154
AR 1,146,088 941,484 204,604
= 82,050
Alt] 597,301
Tl 466,737
SSTZAMNY FA 383,750 516,338 A132,588
AlH] 141,875
T4l 241,875
401 AIZHIZ SO 383,750 516,338 132,588
AlHI 141,875
Tl 241,875
01 AlZH| 383,750 516,338 A132,588
OAfote 3522 100,000,000 100,000
03322 283,750,000 283,750
Albl 141,875
Tl 141,875
NEZSH LRI (M EALS) 581,708 274,8% 306,812
AlHI 436,281
Tl 145,427
401 AIZHIZL R0 581,708 274,8% 306,812
AltI 436,281
-l 145,427
01 AlZH| 581,708 274,8% 306,812
OXNSESH LAelAte
581,708,000 581,708
Altl 436,281
Tl 145,427
LK JHEH 2 6,900 5,850 1,050
201 er2 3| 6,450 5,450 1,000
01 At2teltl 4,650 3,650 1,000
OgTelXgdye g8 & 29
3,150,000& 3,150
OOl 2AiclaEgs 82 S
500,000 500




fA: LXtel=S K
M D2 =3 9 oF
el A EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OF GS2(FUFH 04 1,000,000& 1,000
2 s5=34l 1,800 1,800 0
OZXAHIA AL 150,000& * 12 1,800
203 =8| 450 400 50
03 A=A H R FZ| 450 400 50
Ooglelagdst R
500, 000 *90% 450
ARIED Y |4 109,400 80,000 29,400
s 82,050
AlHI 19,145
Tl 8,205
307 212+01™ 109,400 80,000 29,400
= 82,080
AlHI 19,145
-l 8,205
02 QItEHAEE X 109,400 80,000 29,400
OAt2|ED 1Y dXI2IEE KIEALE
109,400,000 109,400
[ 82,050
AltI 19,145
Tl 8,205
AMRIEDIE - 0201 43t 3,330 3,400 AT0
201 et 3| 2,700 2,700 0
01 At2t2l] 2,700 2,700 0
OMEH(OIE)I1Y 32 & 22 XY
2,700,000 2,700
203 HR=H| 630 700 AT0
03 A=A PR 630 700 AT0
OAIH) 1Y 54 gdal 24
700,000 *90% 630
HEetga 24 11,000 11,000 0
201 fer= 3| 11,000 11,000
03 &A= 11,000 11,000
omsegs 23 11,000,000 * 12l 11,000
DEHE HRAHE WIIX X 50,000 50,000
308 XtXIEMSO0IE 50,000 50,000
11 SIS0t oA A A 50,000 50,000
OMS&R DEOHE FHeiXig
50,000,000 50,000
UEEE 30,000 34,000 24,000
[ 22,500
AlH] 5,250
- 2,250
ARIED Y AtzlE2EE I 30,000 34,000 24,000




fA: LXtel=S K
M D2 =3 9 oF
o9l 8T E EER-E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 22,500
AltI 5,250
-l 2,250
307 @I2to| & 30,000 34,000 24,000
[ 22,500
AlH] 5,250
-l 2,250
02 2B YA HE A 30,000 34,000 24,000
OAIZIED|E A28 XIEAIE
30,000,000& 30,000
[ 22,500
AlHI 5,250
Tl 2,250
FEX AN 789,0%6 185,947 603, 149
= 274,664
AlHI 192,265
Tl 322,167
HHZ 2Y 163,568 106,567 57,001
101 @12A4H| 100,112 63,567 36,545
04 JIZtNZ22 XS+ 100, 112 63,567 36,545
OFHIZZ JIZHRIZZ XL 100,112
- QIABI(FEXELE)
86, 1202 6 x28 L 6 86,809
-=mUASEEE 86,809,000 4. 5% 3,907
-RUALEEE 86,809,000& *3.495% 3,034
- YIIRLEE= 3,034,0002%12.27% 373
CIEEEE 86,809,000 *1.75% 1,520
MHEER 86,809,000 * 1% 869
SEFOHI 300,000 6 1,800
SAZIE 300,000 64 1,800
201 fer=2 3| 63,456 42,000 21,456
01 At 2|l 21,240 13,140 8,100
O&EEXd 28 24 5,000,000 5,000
Oo=2gEs & 7
250,000 x204 2% 123 6,000
OF=D & 2I1EF)I| 2Rz
200,000 #2042+ 123 4,800
OREHIANAY =8
185,000 x2)4 2=+ 123 4,440
O&AM #¢ 500,000 x20H A 1,000
2 s5=4g4l 42,216 28,860 13,356
Otttz S 2l
615,000 *2JH 2+ 123 14,760
o= 615,000 *2J4 2=+ 123 14,760




2N gXel=X0
Hu: I8 =X Y O4F
&2l FEXIEAE EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
OUEHsldE S 22
275,000& x20H A% 122 6,600
OAEEHIR X | 4,080,000 4,080
OZHIOIXNIR X E==H| 168,000& * 123 2,016
101801 XM 2K (2IHEEXE) 50,000 50,000 0
307 QIZ2t01 A 50,000 50,000
02 QIZHBAAIEER 50,000 50,000
O1IFZ0|Y XJAHEH 2 XA
50,000,000& 50,000
A K& 243t 8,200 11,380 A3,180
201 LB-2AY| 2,500 6,130 A3,630
01 AR2teld| 600 2,630 A2,030
OFEAEM =282 & S 600,000& 600
03 A2 I 1,900 3,500 21,600
OHEAUERD &85213 400,000& 400
oyde ¢ 29 1,500,000& 1,500
203 PRF=&Y| 900 450 450
03 AR FRIHRFAIY| 900 450 450
OFdE & 2= 1,000, 000 *90% 900
301 LPENF 4,800 4,800
11 SHAIAHIXIAZ 4,800 4,800
OFAUERA gl
20,0003 *24% 103 4,800
HEAIE SAZE XA 18,000 18,000 0
201 Ler23| 1,000 1,000
01 AtR2elt] 1,000 1,000
O=28 H&E S 1,000,000& 1,000
301 LPENS 17,000 17,000 0
03 MBI B & A6 Z2 (XY THA) 17,000 0 17,000
OSSN SAZE XI& 17,000,000& 17,000
HUEEAN StAl SEXH 549,328 0 549,328
= 274,664
Altl 192,265
sl 82,399
301 LPENZ 549,328 0 549,328
= 274,664
Al 192,265
-4l 82,399
01 A2 & X Z2(2REETA) 549,328 0 549,328
OFUHZAM StAl EEXA
549,328,000& 549,328
= 274,664
AlHI 192,265




2N gXel=X0
M D2 =3 9 oF
&2l FEXIEAE EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| ]| 24| 8,39
HASE NEIgr &4 16,088,584 14,551,567 1,537,017
= 12,008, 169
= 1,762,161
AltI 1,476,044
sl 842,210
KHEALE =& 11,804,530 11,584,159 220,371
= 10,365,534
iy 42,991
Altl 977,185
=4l 418,820
NE22 10,959,670 10,800,082 159,583
= 9,864,162
Altl 767,214
=l 328,294
201 B2 AL 20,000 20,000 0
= 18,000
AltI 1,400
sl 600
01 At=22teld| 20,000 20,000 0
OXtet2z Atg| 20,000,000& 20,000
= 18,000
Alt| 1,400
-4l 600
301 LPENSZ 10,939,670 10,780,082 159,588
= 9,846, 162
Albl 765,814
-4l 327,694
01 Al B& X Z2(2REETHE) 10,939,670 10,780,082 159,588
o222 10,939,670,000& 10,939,670
= 9,846, 162
AlBI 765,814
-4l 327,694
XXM 29 716,786 674,031 42,755
= 501,372
AlBI 150,412
-4l 65,002
203 AR F=&lh| 540 540
03 A FRIHRFAIY| 540 540
OXGTtedH gRF8
600,000 *90% 540
307 212+01™ 716,246 673,491 42,755
= 501,372




2A:
T ZH -
o e

=aak

2 Atel =Kot
NASS NEole &4
AEAY =&

SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
AlH] 150,412
- 64,462
05 2ItRIE = 716,246 673,491 42,755
OXS e 29 X2
716,246,000 716,246
= 501,372
Alt] 150,412
Tl 64,462
K& Abell2tel 61,415 58,526 2,889
= 42,991
Alt] 12,897
- 5,527
307 212t01™ 61,415 58,526 2,889
s 42,991
AltI 12,897
el 5,527
05 2IR”tRIE = 61,415 58,526 2,889
ORXteEAtell2el 61,415,000 61,415
= 42,991
AltI 12,897
-l 5,527
UNE=PAE-Sull= RSt RN B =) 66,659 51,520 15,139
Al 46,662
- 19,997
307 212t01™ 66,659 51,520 15,139
AlH] 46,662
- 19,997
05 21t =S 66,659 51,520 15,139
OXARISHE X=X+
66,659,000& 66,659
AlHI 46,662
-l 19,997
AMSIMEIA - RS X~ 4,284,054 2,967,408 1,316,646
= 1,642,635
= 1,719,170
Albl 498,859
- 423,390
ItAZE S 2 M A AR 309,774 281,259 28,515
= 216,842
Altl 46,466
el 46,466
307 212t01& 309,774 281,259 28,515
= 216,842




2A:

X XH -
o=

2 Atel =Kot

NASS Mg =4
=5l AlRIAHIA - TrtEd X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 46,466
Tl 46,466
05 2ItRIE = 309,774 281,259 28,515
OIARIE S ZMHI A ALY
309,774,000& 309,774
= 216,842
Alt] 46,466
Tl 46,466
KNI HALS| MHIASE XA (KISOHE S HIRH) 2,083,923 1,873,317 210,606
= 1,458,747
Al 312,588
Tl 312,588
307 glztol & 2,083,923 1,873,317 210,606
s 1,458,747
AltI 312,588
Tl 312,588
05 2IR”tRIE = 2,083,923 1,873,317 210,606
OXehge Hex 2,083,923,000& 2,083,923
= 1,458,747
AltI 312,588
-l 312,588
KNS M MBIAETAE 29 4,300 4,300 0
= 3,010
Altl 1,290
201 el 4,300 4,300 0
s 3,010
AlHI 1,290
01 At2teltl 4,300 4,300 0
OXS A MBI AE ALY 2
4,300,000 4,300
[ 3,010
AlH] 1,290
FH0ISHZAE A 57,959 0 57,959
[ 40,571
AltI 8,694
Tl 8,694
307 @20l & 57,959 0 57,959
[ 40,571
AlHI 8,694
Tl 8,694
05 212t =S 57,959 0 57,959
OFHNISAHABANHAI 57,959,000 57,959
[ 40,571




2A:

X XH -
o=

2 Atel =Kot

NASS Mg =4
=5l AlRIAHIA - TrtEd X (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Alt] 8,694
Tl 8,694
ZEsEUe==sMAE =X 1,828,098 808,532 1,019,566
= 1,642,635
Al 129,821
Tl 55,642
307 lztol & 1,828,098 808,532 1,019,566
= 1,642,635
Altl 129,821
el 55,642
05 2ItRIE= 1,828,098 808,532 1,019,566
O2zseEerside=sid 1,828,098
s|IN=SH | 22,414,000 22,414
= 20,173
Albl 1,568
Tl 673
s|INSSE I 45,658,000 45,658
= 41,093
Albl 3.19%
Tl 1,369
W= 53,361,000 53,361
= 48,010
Altl 3,746
Tl 1,605
FEs|dI|I=SSE 57,511,000& 57,511
= 51,760
Altl 4,025
Tl 1,726
ISPV ES 163,687,000 163,687
= 147,318
AlHI 11,458
Tl 4,911
SIYME AR | 131,940,000 131,940
= 116,107
AlHI 11,083
Tl 4,750
SIYMEAZ 75,953,000 75,953
= 68,358
AlHI 5,316
-l 2,279
HE UL XS EH(RH&k2(0I5H)
246,223,000 246,223
= 221,600




A gXtel=X

M LSS NI x4
Sl ABIAHIA - RAES XIE (SHol: )
SA - ZE . BR() - HRAR - BES of v G o HIDE2
AlH] 17,235
Tl 7,388
IENEDESETeNEE )
1,031,351,000& 1,031,351
= 928,216
Alt] 72,1%4
Tl 30,941
dY 2 ZHI(L A=K 79,907 92,172 N12,265
el 2E | 36,639 36,186 453
eIg =3 36,639 36,186 453
101 e124d| 35,194 34,759 435
03 SRA(RIH L) 222+ 35,194 34,759 435
OSRZZHFHLAEA) B 35,194
E2s 2,372,980 1H+ 128 28,476
Scl=d4dl 6,718
==t 140,000 ~ 128 1,680
-EEF0HI 2,372,980 *80% 1,899
-tEsg 120,000& «12& 1,440
RPN =) S
13,2703 *BAI 2t 162 1,699
202 04| 240 240
01 2L AL 240 240
S2A =U0H 20,0002~ 128 240
303 Zal= 1,205 1,187 18
02 d1tat0i= 1,205 1,187 18
O32A dtati= 3,170,730 38% 1,205
Jl=3H| 43,268 55,986 A12,718
Jl=23H] 43,268 55,986 A12,718
201 er2 3| 15,368 15,114 254
01 At2teltl 10,368 10,714 N346
ORNEg=+3HI 5,184,000& 5,184
OJ|2g R+ 5,184,000 5,184
02 s3=gHl 5,000 4,400 600
oRE= 5,000
apted 5002 +6,000& 3,000
So|ed 2,5003+800S 2,000
202 048l 25,200 37,632 N12,432
01 2L AL 25,200 37,632 A12,432
OJl2gf=a80t|
280,000 «15E~6E 25,200
203 gF=4| 2,700 3,240 AB40
M EASHLRFAH 2,700 3,240 2540
ORNSgER=aHI 3,000, 000& 90 2,700




